Problem set 4. 

Seminar week 43

WAGE BARGAINING

Consider the right to manage model. Let union preferences be as in section 3.1.1, but for simplicity let v(w) = w. 
a) Consider a situation where the firm gets an income per period of Π0 during a conflict. What is the effect of Π0 on the markup? 
b) Consider a two-tier bargaining system where central negotiators first set a wage  - wc. Next local bargaining occurs. Local bargaining is conducted under a “peace clause” where the firm gets Π0 while workers are paid wc. Derive the expression for the markup in this case. What is the relationship between the centrally negotiated wage and the employment level in this case? 
c) Go back to the model with local bargaining only, and set Π0 =0. Consider now a case where the union only cares about the wage level only, not the employment level. Derive the expression for the markup in this case. 
